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B. Com. (Part I) EXAMINATION, 2017
(Group—I : Accounting)

Paper Second

BUSINESS MATHEMATICS 2
)
Time : Three Hours ] _ [ Maximum Marks : 735
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Attempt all the five questions. One question from eacl¥

Unit is compulsory. All questions carry equal marks.

TPR—1 -
(UNIT—I) .
1. (@) 3Eed S@ P -,%'
Vxd 4+ 4x2 + 5x + 6 %
Find the derivative : E
Vx} +4x2 + Sx + 6 3
(@) frefofed o @ A 3R Soem 99 319 Sk -
7%
2
y=2x" ~15x2 +36x +11
A-38
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Find the minimum and maximum values of the
following function :

' y=2x —15x% + 36x + ],Jl'l
T ﬂ

(Or)

_ ®) e el # wem  we g AR 7
z
2 (236.8)° .

0 /539.6 x 610.4
z Find the value with the help of logarithm tables :

2 ' 3 ‘

z (236.8)

L}
= V539.6 x /610.4
@ x o1 wF TRy gk 7%
logyg x + logjp(x-3) =1
Find x if
g: ]ng X+ log]ﬂ (x - 3) = 1
E, IR—2
% (UNIT—2)

T2 @) fie el 71
= 2
~ : 1 a b+c
[
= 1 & c+al=0

1 ¢ a+b
Prove that :
l a b+ec
l b c+a 2.0
1l ¢ a+b
A-38 : S -
www.a2zsubjects.com " ‘www.a2zsubjects.com

wodspalquszze mmm

urod'spdalgnszze mamm



wodsydlgnszze mum

wodsplqnszzeamm

w¥¥#.a2zsubjects.com

www.a2zsubjects.com 131 www.aZzsubject‘%.'@&ﬂf'
(@) feRed aRRE o1 49 T i 723
{19 17 15
9 8 7
111
Find the value of the determinant :
19 17 15 2
9 8§ 7 z
=
[ 1 1 N
(Or) 2
32 b2 :
uﬁ:zx:[ﬂ ) J,B: 3 0| &, d AB TS
-1 2 '
BA & W qaIgd |
32 1 L2
If A = , _;|B=| 3 0] findABandBA.
-1 2]
FOR—3
(UNIT—3)

Frfefed Yy we & 1o R ¥ 5 iR 15
mﬁﬁﬂﬁfﬁmz _
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z2=20x +25x,
W4l :
X} =32
x <8
4x +3x, <48
x,x 20,
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Solve the following linear prc svamming problem by

graphical method :

Maximize :
z=20x +25x,
Such that :
| x <32 3
X2 <8 g
4x +3x, €48 4
' =
x'l:x‘.'l 2 0' ?l
ol <
=)
- (On

. “ 2

() @ <SSRl P A 98 T UEEN AT SN BT U 3
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The sum of three numbers is 98. The ratio of the first to ;‘:"_,
i ~
second is % and the ratio of the second to third is é— . 5_
R =
Find the second number. * E
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If 8 persons working 8 hours a day

work in 15 days then how many pers
twice of the same work ip 6 d
aday?

J

can complete a -
ons can complete
ays by working 10 hours
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(UNIT—4) |
vF @R A € AEeE ¥ @ 2,000 SO ferm| U
% foIT GERYT & @ X 8% D Tl W B fe
6 T o ve af @ fay IO @ T 136 A
forgr | WA <X TR Y T 6 BT qEd | 74

A businessman borrowed from two moneylenders a

sum of ¥ 2,000. For one loan the rate of simple interest
. oLl r =1
was 8% per annum and for the other was 6% per

annum. He paid a total interest of ¥ 136 for onc

y
year. Find the sum barrowed on each rate of interest by
him.

foram qgi H T
ahglE B s-i—efu qifife € 7 7

1,500 @7 fasreE T 1,762 & SR S

=

In how many years a sum of ¥ 1,500 will amount to

T1,762ats % v p. a. compound interest ?

3prt
(Or)

?2nnoﬁ1oaﬁﬁﬁamﬁmﬁmwaﬁmw

i Fifery afk @i A 5% e &

_a
(4 2]

Calculate the amount and present value of an annuity
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immediate of ¥ 2,000 for 10 years, if the rate of interest be

3% per annum.

A-38
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60 students appeared in an examination. On average |
they got 45 marks. Those who passed got on an £
average 55 marks and those who failed got on an 2

average 30 marks. Find out the number of candidates 5
who passed. ' =

SITE MMM

olq

(@ & TW e W AW B 5% WS A G 2 @

TR 3 T B 60% T I ¥ T 760 F W gHG
ST &1 B <l W T A e 3 A 74

In an election 5% of the votes cost are declared invalid.,

A candidate gets 60% of the tota] valid votes and wms
the election

£ZE'M. MM

by 760 votes. Find the total numbers of—
votes cast.

T
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Explain the concept of Commlssmn

BT 14% weer &% a1 sy
10% @1 59 weey & @
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A ftrader is offered a discount of 14% by one-
wholesaler and 10% and 5% by another. Find which is
cheaper. If he purchases at the cheaper rate and sells at .
5% below list price, what will be his profit percent ?

www.a2zsubjects.com www.aZzsubjects.com

wodsalgnszze mmm

w0y sydalgnszzemamm



